0N (FMHE_S)
[ =3t ] (Chel - M
ARl & gYee ME ARBESY Y85 SR
= = quy | SHE | 52
H-g-Hg-F O A of e
& A 39,887,517 | 36,208,251 | 3,679,266
600 Als2 10,013,906 | 10,815,665 ~801,759
610 4+ 9,884,826 | 9,715,003 169,823
611 AIB249 9,884,826 | 9,715,003 169,823
02 Jt4Este=AER 6,066,406 | 6,058,739 7,667
O7HE & st Aitga 49 505,533,860x12¢¥ = 6,066,406
06 YotEstrTAER 3,705,208 | 3,546,611 158,597
OYBtE St AtER 49 308,767,363x12% = 3,705,208
10 MALSYEotrZAER 113,212 109,653 3,559
OME3YE ot AR 9 9,434,382x12¢¥ = 113,212
670 T2 129,080 1,100,662 | ~971,582
671 0|2t 30,000 30,000 0
01 o20[At+Y 30,000 30,000 0
Ot 284AF 2Alg29 0jAte-Y 30,000,000 = 30,000
672 ERR[AMUS T 99,045| 1,070,627 | ~971,582
01 Yets|A M2 0 983,012 ~983,012
09 7ZIERYS 99,045 87,615 11,430
OF2NM EESA HUz 99,045
02l 2R 7|3 Y (BUERIAY 77,255,000 = 77,255
-0 Sk 2YRH 7|3 Y (EE) 21,790,000 = 21,790
679 7|EtE YRl 35 35 0
01 7|Etdci+¢] 35 35 0
OZFAL AEYUZ (AU HESAAYLH) 35,000 = 35




[ 3423 ] (9] : A
R e 2 Z2NERZH
oque | SEa| B2
100 224+ 27,650,182 22,138,300 5,511,882
170 224z 26,677,929 20,726,000 5,951,929
173 Efe|AA 21,317,929 | 17,726,000 3,591,929
01 ZnERZH 16,112,000 6,886,000 9,226,000
O MU 22tz YH|ALY 8,769,000,000 = 8,769,000
OZY Saotr-22|d SHAY 3,726,000,000 = 3,726,000
OZY BBEISH2IAA ALY 270,000,000 = 270,000
OFY S3ot-2e|d S 331,000,000 = 331,000
OADIE stk EAIRS 315,000,000 = 315,000
Od4t0rE of2t2 HH| 100,000,000 = 100,000
OFYS A2+ st 359,000,000 = 359,000
O8d=sE H2lE+ o 138,000,000 = 138,000
O 2|14 152,000,000 = 152,000
osdstEd 1,759,000,000 = 1,759,000
OZY REH2|7Y stttz 193,000,000 = 193,000
02 Ef=/AHA 4,178,429 10,520,000 | 26,341,571
OB 52 YA S0{Z012514E HH|AY
82,429,000 = 82,429
OFY SAH 2 1,000,000,000 = 1,000,000
OZY 2B 2l (RHIAKY) 1,000,000,000 = 1,000,000
OZY 530t 216,000,000 = 216,000
OFY S 3otA 702,400,000 = 702,400
OADLE st 135,000,000 = 135,000
OZ4t0rE ot fu(‘-'_#t”}\fo*) 500,000,000 = 500,000
OdYS 2|2 te2t2 ZHAR (T H|AY) 239,000,000 = 239,000
o84 =8 *2 Z ZQH|AY (= HIAIS 73,600,000 = 73,600
OdYH 2|7 ettt E FH|AIY (ZHIALY 101,000,000 = 101,000
ozY R 2 HH|AIY (SHIAY 129,000,000 = 129,000
03 A|EHIE 1,027,500 320,000 707,500
OB 52 YA S0{Z012514E HH|AY 73,000,000= 73,000
OZY 535t 706,500,000 = 706,500
OZY S0t 2|A|d THZALY 54,000,000 = 54,000
OFY Saotr-2|d SHA 175,600,000 = 175,600
Osd=E 18,400,000 = 18,400
175 SAHRE 5,360,000 3,000,000 2,360,000
09 7IEl= 5,360,000 3,000,000 2,360,000
OSteE 2012 5,360,000,000 = 5,360,000
180 |EZ= 972,253 1,412,300 N440,047




240 3 QBT M 2AAHYS B YIS
A} oH ddL = 7}
KR S5 ey | S°
181 &=MAYAZ 812,253 1,252,300 ~A440,047
01 &MAYN 812,253 1,252,300 ~A440,047
OHEE F0|E= 812,253,000 = 812,253
182 O|== 160,000 160,000 0
01 gEHole== 160,000 160,000 0
OMAL St AR D|&T 160,000,000 = 160,000
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A o AEYo Y MEERAHEERSSY 5 qlE2seY
= = quae | SHe| B2
-8 MY = of A of
100 A2+ 1,473,429 2,504,286 | 21,030,857
170 22Uz 1,471,429 2,502,286 | 21,030,857
173 ERAAEEZE4Y 1,471,429 2,502,286 | 1,030,857
01 =1EZRZSY 1,030,000 1,362,500 ~4332,500
o FUIIMICH =T T2 FBAY 1,030,000,000x14! = 1,030,000
02 ERAHEEzaZsY 441,429 1,120,886 ~679,457
O FYTIIE T T2 YH|AIY (ZBIALY)
441,429,000x14] = 441,429
03 AzHEZz4Y 0 18,900 218,900
180 REAZ 2,000 2,000 0
182 O3 2,000 2,000 0
01 <dolss 2,000 2,000 0
oEiQm+X2Y 2FHE FE5 AHE Ojeg 2,000,000 = 2,000




